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QUESTION 1

-- Exhibit

-- Exhibit -

In a WCCP environment with R3, SH10 and SH11, it was observed that SH11\\'s WCCP state is "read error". What is
the possible cause?

A. The Steelhead is not receiving i-see-you messages from the router

B. The Steelhead is not sending here-i-am messages to the router

C. The Steelhead is not receiving removal query messages from the router
D. Everything is in order ?working properly

Correct Answer: A

QUESTION 2
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The primary data center Interceptor is configured to fail-to-block. What best describes the result of stopping the
Interceptor appliance service?

A. All traffic passes through the Interceptor appliance

B. The Interceptor allows UDP traffic to pass-through, but blocks all TCP traffic

C. Previously optimized connections continue to be redirected, but new TCP connections are passed through
D. All traffic through the Interceptor will be blocked

E. The Interceptor appliance communicates to the Steelhead appliances to disable their optimization service

Correct Answer: D

QUESTION 3

When using TACACS+ or RADIUS to authenticate management access to the CMC appliance, which of the following is
true?

A. You are required to supply login credentials to every Steelhead appliance
B. You will automatically be logged into to every Steelhead appliance

C. All users will use the same user name and password

D. Itis not possible to use TACACS+ or RADIUS

Correct Answer: A

QUESTION 4

SteelHead SaaS can provide telemetry. What kind of integration with SteelCentral is possible? (Choose two.)
A. SNMP v1, v2c and v3

B. Netflow

C. SteelFlow

D. SNMP v1 monitoring

Correct Answer: C

QUESTION 5

Citrix optimization does not work although you removed ports 1494 and 2598 from the Interactive Ports label and
enabled Citrix optimization on the client-side Steelhead appliance. What could be the problem? (Select 2)

A. You need to enable Citrix optimization on the server-side Steelhead appliance.
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B. Secure ICA encryption needs to be enabled.
C. Citrix CDM optimization needs to be enabled.
D. You need to restart the optimization service.

Correct Answer: AD
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